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In the figure below, lines f and g are parallel. ‘ ?0
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3)A cylinder-shaped container is used to store water. The container has a
height of 6 feet and a diameter of 3 feet. About how much water is in

the container when it is E full?
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Draw the image and labe) with letters. Then, identify the

letter of the choice that best completes the statement or kol 3. ‘The plan for a voom is drawn on a grid. It
answers the question. is then de (1e‘d that the s _a}'gk le should be moved Lo
X-tepr the mﬁmﬁ"a\m t!gwni'g units, List the new
—£oor - Translate triangle RST left 3 ynits and coordinates of the vertices.
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» Translate Hll'right 1 unit and up Z wnits, L 4. Reflect BACD across the x-axis. Listt
oordinates of the vertices of the new figure, coordinates of the vertices of the new figore.
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L8 A bedreom plan is being designed on the
below. The designer decides to rellect the placement
e b, which is represented by vectangle ABCD, across
-axis, What will be the enordinates of the vertices of
wd 1 tiie new plan?
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7, A Nag is represented by tanghe R8T on

tl\e prid below. The flag is moved so thatatis rellected

across the x-axis, What are the coorvdinates of the vertices

alter the le“ection" i
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_ i, Members of a dance team begin in a b 8. Rotate DEF 180° clockwise about the
o Tormation that is represented by trapezoid (1)K origin. List the coordinates of the vertices of the new
the grid helow. They move so that their new formation figure.
“refection across the v-axis What are the new :

welinates of the vertives after this reflection?

~hdmae Sron 17
- - ,J v o ., 8 M EIERCEE
»h YRY K- (’/"M’.. 0

Y

.-11.

a}

4 &

- J O

. a D°(0,0),E(-1,-5), ¢. (0,0}, E°(1, -5),

|32 Ss F(-3,-3) ¥(3,-3) S I
H'(=1,3).1°(=5.4). ) (5. 1), K b, D°(0,0), E'(5, 1), F(3,3) d. D'(3, 3).E(22).F(0.0)
H'(T, <3).7(5, - -1).K°(1,-2) Pf

ML 30, (5. ), ) (5, 1), K'(1.2)

( ;
W(-1, -3), (-5, -4 (-5, - 1) K'(-1, -2) O



9. Translation Left 1, Down 3

10. Reflection across y-axis,
then reflect across the
X-axis

11. Reflection across x axis

12. 2
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Rotatio
ns







Degrees Counterclockwise

(Xa Y) (Y: _X) (Xr Y) ('Y: X)

180- (Xn y) (—X, _Y) (Xa y) (—X, _Y)
270 (X> Y) ('Y= X) (X7 Y) (y7 _X)

360- (x,y) (x,y) (x,y) (x,y)







Clockwise Rotations at different degree
examples:




counterclockwise







*Make sure your new image is
named with "prime" marks.




Rotate triangle ABC
clockwise:

a) 180°  (x,y) =>(-x, -y)
b) 270° (x,y) =>(-y, x)

*Make sure your new image is
named with "prime" marks*
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a) 270
counterclockwis
*what would be the coordinates of
B'M'P'W?
b) 360- s ame/
clockwise pesiion
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180 degrees clockwise.
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s 6. The playing field for a new parkis
modeled on the grid below. A last minute change in plans
will move the parkto the right 2 units and down 3 units.
What will be the coordinates of the vertices of the new
parkunder the new plan?
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a. R(3,-2),8°(6,-1), c. R(1,-5),5°(4,-4),
(6 -3) U(3 - T’(4,-6),U°(1,-7)
b. R’(3,-5),5°(6,-4), d. R'(-1,1),5°(2,2), T'(2,0),

T’(6y —6), U’(3, _7) U’ (_ 1: _1)




. 9. Reflect GHIJ across the y-axis. List the
coordinates of the vertices of the new figure.
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a. G'(-1,2),H(-3, 2),I'(-4, 1), J'(0, 1)
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- 16. Plans for a trapezoidal fountain are
represented by trapezoid ABCD on the grid below.
Contractors decide to rotate ABCD 90° clockwise about the
origin. What will the coordinates of the new vertices be
after the rotation?
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a. A’(2,2),B°(0,0), C’(-1,0), D’(-2, 2)
b. A’(0,0),B°(2,-2), C’(3,-2), D’(5,0)

c. A’(0,0),B’(2,-2) C'(2,.-3) D6
EA'(O, 0),B°(-2,2),C"(-2,3),D’(0,5)




iy A A dance team begins in the formation
modeled on the grid below. They then rotate 90°

counterclockwise about the origin. What are the

coordinates of the new vertices after<he rotation?
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a. R’(-2,4),5°(0,3), T’(0,0), U'(-2, 1

c. R°(0,0),5(2,-1), T
d. R°(0,0),5°(-1,2), T"(-4, 2), U"(-3, 0)






